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» Please check that this question paper contains 11 printed pages.

* (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

¢ Please check that this question paper contains 32 questions.

s Please write down the Serial Number of the gquestion before
attempting it.

* 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer script during this period.
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General Instructions -

(i) All questions in both the sections are compulsory.
(i} Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and 17-21 are very short-answer questions
carrying I mark each. They are required to be answered in one
sentence each.

(tw)  Questions No. 6-10 and 22_9¢ are short-answer guestions
carrying 3 marks each: Answers to them should normally not execeed
60 words each.

(W) Questions No. 11 -13 and 2729 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi)  Questions No. 14-16 and 30-32 are long-qnswer queslions
carrying 6 marks each. Answers to them should norm ally not exceed
100 words each.

(Wit} Answers should be brief and to the point and the above word limits
should be adhered to as far as possible,
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SECTION A
wWug A

i
d =
2
o I
§

1. What iz a planned economy 7 I

Aerg deraen A 7 sfimm & 2

2. When is a firm called price maker ? 1

fedt wf = Ftww fafs =9 =0 5 £ 7

3. Define a budget line, 1

T T F uftamr S

4. What is 'decrease’ in supply ? : 1

ofF # w R # Fm oafmg @ 2

e m‘“l‘ o TR B

b
i

5. Define production function. 1

pie o

IEA oA @ g Sfew |

—
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6. How is production possibility curve affected by unemployment in the
economy ? Explain. 3

seerre § WS H I WEEA 9% W Ry W9E TSl # 7 WOy

7.  When price of a good 18 ¥ 13 per unit, the consumer buys 11 units of
that good. When price rises to ¥ 15 per unit, the consumer continues
to buy 11 units. Calculate price elasticity of demand. J

5 W fdl awg & Awa T 13 ofa e @ R, @ Iodew 5w owg W 11 seEA
wlen @ 1 @ w15 M @ @ W R, A A swi 11 s
& wmiga # | uin W Fivd | ow e S
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8.  Distinguish between explicit cost and implicit cost and give e-:mmplas. 3

WE AW i Ferw (gElE) wom ¥ dfe s amEe ot semer dfew

9. Draw in a single diagram the average revenue and marginal revenue
curves of a firm which can sell any gquantity of the good at a given
price. Explain, 3

LR T o e S PP U,
aﬂ?ﬁiﬂiﬁﬁﬂlﬁﬁﬂﬁiﬁﬁmﬂmlmﬂﬂml

e i

Note : The following question is for the Blind Candidates only, in lieu of
. No. 9.

Az =it Fe7 dac gewtT aigndat & g 997 G899 % A w &

Explain the relation between average revenue and marginal revenue of

a firm which is free to sell any quantity at a given price. J

ﬁﬂﬂﬂ?mﬂaﬁ#mﬁﬁﬁwﬁﬁﬂﬁ%ﬁqﬁmﬁlm
ﬁmﬁmﬁﬁ!mm%ﬂamml

10, Explain the implications of the feature ‘large number of buyers' in a
perfectly competitive market. 3

OR

) Explain the implications of the feature ‘homogeneous products’ in a
o perfectly competitive market. ' 3

: ol s SR el @ agt wer fwa & g vy e @ 2
W |
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11. A consumer consumes only two goods X and Y. At a consumption level
of these two goods, he finds that the ratio of marginal utility to price
in case of X is higher than in case of ¥. Explain the reaction of the
consumer, ' 4

U I dhad 3 e X s Y @ 3w s 2 1 59 309 ¥ ww o
W I v wma ? R ow X # dme swdifen o dien @ erum awg Y &
aen afgs @ 1 3ot St Fn sfate e0ft 7 wEEmEw

12. Explain how rise in income of a consumer affects the demand of a
good. Give examples. 4

wagse & sod @t sma # afg @ fed @ F dft W w0 o TEw 2
TR G |

13. Define marginal cost. Explain its relation with average cost. 4

OR

_I}eﬁne variable cost. Explain the behaviour of total variable cost as

output increases. 4

digiag @ St oftamn S | sE atee e B weEe gEsmu

e

ofEe @ & afem e | IEeE § e we-mg 3@ e @ @
EER. AAEEY |

14. What is producer’s equilibrium ? Explain the conditions of producer's
equilibrium through the ‘marginal cost and marginal revenue’
approach. Use diagram. 6

IqEH & Hqea ® w Afvwy @ 7 dine wm el dwie dwfe gfewmo @
IO & HEd & U0 GAeRy | YEte & o fife
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The following question is for the Blind Candidates only, in lieu of
- . No, I4.

frefafad w7 #a9 giesa srandel & fau 5v7 gew 14 % = w7 {

What is producer’s equilibrium ? Explain the conditions of producer’s
equilibrium through the ‘marginal cost and marginal revenue’
approach. Use a schedule.

IS % dqed ° ¥ dw & 7 dmiw a@rm #R dinie d@wia gfesm §
IOEF F AGEA F O HAHET | FEE # xS |

Explain the conditions of consumer's equilibrium with the help of the
Indifference Curve Analysis.

s % favem & TEEW 8 IO dqed @ YR Amgsy |

Market for a good is in equilibrium. There is ‘increase’ in supply of the
good. Explain the chain of effects of this change. Use diagram. .

UF A% F AR Bged d @ | IW A Ay 7 9’ @ 9t @ 1 3w ofted
¥ T UEd A WME § Een s saer Siften | e s owEm S

The following question is for the Blind Candidates only, in licu of
@. No. 16.

frfafan yev &9 gfeela ol & fav 577 dow 16 & &= WE |
Market for a good is in equilibrium. There is ‘increase’ in supply of

that good. Explain the chain of effects of this change. Use a
numerical example.

OR
Distinguish between ‘non-collusive’ and ‘collusive’ oligopoly. Explain the
following features of oligopoly :
(i)  Few firms

(iiy Non-price competition

Page 6
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I % a @ AW g § 41 5 g @ O A R A T 1 e
 Frov Usd A wAEl @ dmen @ wren Sy | U AEeE Se
G
HEHl
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(ii)  Th-sma iR

SECTION B
HUE &
17. What are stock variables ? 1
=% wRedl @ = sfeE @ 7
N 18. Define ‘depreciation’. 1
’ qergre ) owoaw Ao
19. Define ‘Statutory Liguidity Ratio’. L ik 1

‘g Avem sam w0 gl e |

20. Define money. 1
@ & it g |
b 21. What is foreign exchange 7 .. 1

faaeht gz @ = w2 7

2% Which transactions determine the balance of trade ? When is balance
of trade in surplus ? 3

St e R VY W G s § 7 SR W9 g FA g g 2
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Explain how ‘non-monetary exchanges’ are a limitation in taking gross
domestic product as an index of welfare. 3

gy & few wer hdifis SRR & o e vim e S w0
AT T WA S HEA |

24. In an economy the marginal propensity to consume is 0-75. Investment
expenditure in the economy increases by ¥ 75 crore. Caleulate the total
inerease in national income. 3

U aderaeq § dwia 3w wgh 0.75 2| wderaen ¥ fEw e 8 ¥ 75 S
@t of @t @ 1w s F ga ofe T S

25. Explain the distinction between voluntary and involuntary
unemployment. J

ifers il afess F0ed & @9 sio gvgEe |

26. When price of a foreign eurrency falls, the demand for that foreign

currency rises. Explain, why. 3
OR
When price of a foreign currency falls, the supply of that foreign
currency also falls. Explain, why. 3 .
v U e q@ & e e wd @, @ 3w PRt g@ St w9 oamh @
R, FHi
<IE |
A uE feRyll qx & dng B oot 2, @ oTw R g ) off o fm e 2
A,
27. Explain the ‘redistribution of income’ objective of a government budget. 4
OR
Explain the ‘economic stability’ objective of a government budget. 4
WE T W WG F O@EEE YT TEEET |
HEgr

o g9 @ ‘onfis o’ IRYm wEgEn |
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28. From the following data about a government budget find (a) revenue
deficit, (b) fiscal deficit and {c) primary deficit :

(¥ arab)
(i}  Tax revenue ' 47
{ii) Capital receipis 34
.{iiijl Non-tax revenue ) 10
(iv) Borrowings 32
{¥) Revenue expenditure 80
{vi) Interest payments 20

waEl gwe & an ¥ Frafafea el ® (%) oo W@, (@) Tewd ge st

(M) wEfaF 9= 9 W

(T )
(i) = 794 47
(i) e i 34
(i) -w ToE 10
(iv) R 32
(v) =g =94 80
(vi) =9 PEA 20

29, Giving reasons, explain the treatment assigned to the following while

estimating national income :

(i}  Family members working free on the farm owned by the famly.

(ii) Payment of interest on borrowings by general government.

FU T U THIRU R URM 99 @ WEeW s avd fefatad & W@ s

E‘-IEIFHEIWTEIT:IT%:
(i)  ofEr % wee ofen & @ § g FW 8 @
(i) ®WE JER ZA fEE T 3N W o #@OPTE |
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30. Explain the role of the following in correcting the inflationary gap in

an economy : 5
(i) Legal reserves

(ii) Bank rate

OR

Explain the role of the following in correcting the deflationary gap in

an economy : &
(i)  Open market operations

(i) Margin requirements
ﬂﬁ%m%@ﬂﬂﬂﬂim%&aﬂﬂﬂﬂﬂ_

(iy = smfa faf

() %

A

v wdegmen ¥ sweRfEd s @ e F fefdEd @ e e

() e A FHEE

(i)  wifem 3TdETd

31, Explain the following functions of the central bank : 6

(i)  Bank of 1ssue

(ii) Bankers' bank

T ¥F & frafefan =4 w99

(i) ol I

Gi) = W =
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32, Calculate (a) '‘Net Domestic Product at Factor Cost' -andl‘. (b} ‘Private

Income’ from the following : 6
(T crore)
(i)  Domestic product accruing to government 300
(ii} Wages and salaries 1000
{iii) Net current transfers to abroad {=) 20
{iv) Rent 100
(v)  Interest paid by the production units 130
(vi) Mational debt interest 30
(vii) Corporation tax 50
(viii) Current transfers by government 40

(ix) Contribution to social security schemes by employers 200

(x) Dividends 100
{xi) Undistributed profits 20
{xii) Net factor income to abroad 0
frsfafa & sman w (%) ‘F0s @ W fEe 2w (we) aee s (@) e
A FE FHifa

@ F0T)
(i) HER F 9E 9 IR 300
(i) oGl @ar da 1000
(iii) faRyii % few =g Ewao (=) 20
(iv) fErm _ 100
(v)  IEA FHIEA GRS 130
(vi) TEE =T W = 30
(vii) frm &= _ 50
(viii) TSR ZAI A FEATOT 40
(ix) e g smfas gun Feasi 7 sineH 200
(x) @ © 100
(xi) wfaafa o 21()
(xii) faevil % fEw =0 (M) o 0
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